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Q6 Model Solution – 25 Marks Marking Notes 

(a)  
|ܬܣ| = 6371 + 0∙214 

ଶ|ܪܬ| = ଶ|ܬܣ| −  ଶ|ܪܣ|

|ܪܬ| = ඥ(6371 + 0∙214)ଶ − 6371ଶ 

= 52∙21 = 52  

 
Scale 15C (0, 6, 9, 15) 
Low Partial Credit: 
• |AJ| formulated 
• indication of Pythagoras 

 
High Partial Credit: 
• Pythagoras fully substituted 

 
(b) 

 

cos 53° = r
଺ଷ଻ଵ

	or	sin37௢ = ௥
଺ଷ଻ଵ

  

 

ௌభݎ = 6371× cos 53 = 3834∙1635 

݈ௌభ = ௌభݎߨ2 = (1635∙3834)ߨ2 = 24091  

 

 
Scale 10C (0, 4, 5, 10) 
Low Partial Credit: 
• cos 53° or sin 47° 

 
High Partial Credit: 
• radius of ݏଵ calculated and stops 
• length of circle formula fully substituted 

 
 

 
  


